Sujet Porte
Effectuez les calculs suivants

I=[j(4x—3)dx J=[(t+1+7)dt

4 2x+1 _re’s 4
L—fo—mx M= ~(Inx + 1)*dx

K= f”/3cos(2x—z)dx
5x—-15
N = f 1 (x2 6x+2)2

Sujet Ordinateur
Effectuez les calculs suivants

I:f1(6x+2)dx ] = f(t+2+\/_)dt K= f/sm(Zx——)dx

2x+1 5x—15
L= fO x24+x+16 dx M= fl (lnx+1)4 dx N= f—l Vx2—6x+2

Sujet Porte
Effectuez les calculs suivants

I=[j(4x—3)dx J=[(t+1+Ddt K = [ cos (2x _ %) di

_ 4 2x+1 _re’s 4 _ (0 5x-15
L=y pomme®® M=y ;Unx+Drdx  N= [ s

Sujet Ordinateur
Effectuez les calculs suivants

1 3 1 /3 .
I=[/(6x+2)dx =[] (t+2+f)dt K=f: sm(Zx—%)dX

5x—15
M = dx
x2+x+16 fl

Terr @ N=[ s

Sujet Porte
Effectuez les calculs suivants

= [ftx—3dx  J=[(t+1+7dt

_ 4 2x+1 ’s 4
L_fo—m x ~(nx+1)*dx

K= fon/3 cos (Zx —g) dx

N — j-O 5x—15

e
M_fl —1m

Sujet Ordinateur
Effectuez les calculs suivants

_ (! _ 3 1 _ (/3 T
—f0(6x+2)dx ]—fl(t+2+—)dt K—fo SIn(Zx—g)dx
4 2x+1 e = 0 5x-15
L=J rxr1s 0% M= f1 ) dx N= f—1m x

Sujet Porte
Effectuez les calculs suivants

I=[j(4x—3)dx J=[(t+1+7)dt

4 2x+1 _re’s 4
L—fo—mx M= ~(Inx + 1)*dx

Sujet Ordinateur
Effectuez les calculs suivants

I=[(6x+2)dx

I = f4— 2x+1 dx M =

0 x2+x+16

fl (lnx+1)4 dx N = f—l

Sujet Porte
Effectuez les calculs suivants

I=[j(4x—3)dx J=[(t+1+]dt

K=

K=fn/3cos(2x—z)dx

5x—15

N = J.1(352 6x+2)2

J = f(t+2+\/_)dt K= f/sm(Zx——)dx

5x—15
VxZ2—6x+2

071:/3 cos (Zx - g) dx

_ 4 2x+1 _re’s 4 _ (0 5x-15
L=, dx M= J; ~(Inx + 1)*dx N = f_l—(x2_6x+2)2 dx

Sujet Ordinateur
Effectuez les calculs suivants

I= [ (6x+2)dx

L—foﬂdx M =

x2+x+16

fl (1nx+1)4 dx N = f_l

Sujet Porte
Effectuez les calculs suivants

= [ft4x—3)dx  J=[(t+1+7dt

3
L= [ 22 z(lnx + 1D*dx

e
—dx M =
Vx2+x+16 f1

Sujet Ordinateur
Effectuez les calculs suivants
= [, (6x +2) dx

5

4 2x+1
L= dx M =
fO x2+x+16

0
f1 Tt dx N = I

] = f(t+2+\r)dt K= f/sm(Zx——)dx

5x—15
Vx2-6x+2

K= foﬂ/?’ cos (Zx—%) dx
N=[°

5x-15
-1 (x2-6x+2)2

3 1 /3 .
J=1 (H‘Z"‘ﬁ)dt K=f0n sm(Zx—%)dx

5x—15

——Aax
—1vx2-6x+2



Sujet Porte
Effectuez les calculs suivants

I=f01(4x—3)dx ]=f13(t+1+%)dt Kzfon/3cos(2x—g)dx

4 2x+1 e’s 0 _ 5x-15
L=y e M= 7 3 Onx+1)"dx N =L e
Correction

I=[/(4x—3)dx = [2x* = 3x]5=2-3-(0-0) = -1
]=f13(t+1+%)dt=[2t2+t+lnt]§=18+3+ln(3)—(2+1+0)
=18 +1n(3)

K= f(?cos (Zx—g) dx = Esin (Zx—%)]g = %sin (2?”—%) —%sin (—g)
o) -bi-31()-

2x+3 4
— — 2 = — = — =
L= fO Tirric = [ZVX +x+ 16]3 =2v36—-2V16=12-8=4
5(In x+1)51¢

M=f1 ;(lnx+1)"‘dx=[ . ]1 =(ne®+1)°—-(Un1+1)5
=(3+1)°5-15=1024—-1=1023

0
0 5x-15 05 2x—-6 -1
N = D — = e —— = [——]
f—l (x2—6x+2)? dx f—l 2 (x2-6x+2)? dx 2 (x2-6x+2)1_;

5 5 -5 ,5 _-35

2(2) ' 2(1+6+2) 4 ' 18 36

Sujet Ordinateur
Effectuez les calculs suivants

I=[)(6x+2)dx J= f(t+2+f)dt K = [7"%sin(2x = %) dx
4 2x1 _ (0 5x-15
L= fO x2+x+16 dx M= fl (1nx+1)4 dx N = f—1 Vx2—6x+2 x

Correction

= [j(6x+2)dx =[3x>+2x]5 =3+2-(0-0) =5

J=fi(t+2+F)de=[267 + 2t + 2V =184 6+ 23— (2 +2+2)
=18+2V3

K= fon/3 sin (Zx - E) dx [_—1 cos (Zx - %)E = _71cos (2?” - %) - _71cos (— %)

=Ses(B) rie(-) =0+1(9) -
L= "2 gy = [In(x? +x+16)]g=1n(36)—1n(16)=1n(2)zlnG)

0 x2+x+16 16
- T S R R
M = dx = X t= [ ]
fl (Inx+1)* fl (Inx+1)* 3(nx+1)31;
-1 _ -1 _ g1 g-1__ 5 ,5_105
3(lne3+1)3 3(In1+1)3  ~ 3x43 3x1 192 3 T 64
0 5x-15 2x—6
N = x—[Z\/xz—6x+]
f—1Vx2—6x+ flzm

=5v2-5V9=5/2-15

Sujet Porte

Effectuez les calculs suivants
1

I= [ (4x—3)dx

_ (3 1 _ (/3 T
J=[t+1+Ddt K= cos(Zx—Z)dx

4 2x+1 _ re’s 4 _ (0 5x-15
L= fo VxZrx+16 M= J‘1 x (nx +1)*dx N= f—l (x2—6x+2)?
Correction

I=[(4x—3)dx =[2x? = 3x]}=2-3-(0-0) = -1
]=f13(t+1+%)dt=[2t2+t+lnt]§=18+3+1n(3)—(2+1+0)
=18 +1n(3)

K= fogcos (Zx—%) dx = Esin (Zx—%)]%; = %sin (2?”—%) —%sin (—g)
o) -ton (9 =192

2x+3
— Npw) V36 —2V16 =12 —8 =
L= fo e ———dx = [2 x +x+1] =2 —2Vv16=12-8=4
5(Inx+1)°%

M=f1 ;(lnx+1)4dx=[ - ]1 =(ne®>+1)>-(n1+1)°
=(3+1)°-15=1024—-1=1023

0
0 5x—15 05 2x—-6 -1
N = P —— = - = P— ]
f—l (x2-6x+2)2 dx f—l 2 (x2-6x+2)2 dx 2 (x2-6x+2) 1

5 5 -5 ,5 _-35

2(2) ' 2(1+6+2) 4 ' 18 36

Sujet Ordinateur
Effectuez les calculs suivants

I=[)(6x+2)dx J= f(t+2+\/_)dt K = [77*sin (20 - Z) dx
4 2x+1 _ (0 5x-15
L= fO x2+x+16 dx M= fl (lnx+1)4 dx N= f—l Vx2—6x+2

Correction

I= [ (6x+2)dx =[3x*+2x]} =3+2-(0-0) =5

J=fi(t+2+F)de =267 + 2t + 2V =18+ 6+ 23— 2+ 2+2)
=18+2V3

K= f0”/3 sin (2x - E) dx [_—1cos (Zx —%)E = ;cos (2?" - %) - ;cos (—%)

o) o] 0v(9) -

4 2x+3 _ 4 _ _ 36\ _ (9
L= x2+x+16 = [In(x? + x + 16)] = In(36) ln(316) =In (16) = (4)
x — -1 €
M= f (1nx+1)4 dx = fl 5 (Inx+1)* dt = [5 3(lnx+1)3]1
- -1 _ -1 _eg 1 o5 5108
3(lne3+1)3 3(1n1+1)3 T Y 3x43 3x1 192 3 64
_ 5x—15 _ 2x—6 _ 5 VxZ —6x + 2 0
N= f—l VxZ—6x+2 f 12m - [2 vx®—obx+ 2]_1

=5ﬁ—5@ 5v2 —15



